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Ol f(z) = (a® = 5)z? + 22 + 2. HEAERX f(z) >z WEER A ©F (0,1) C AN a
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W P, Q AMANAETIHLE, & ES P+Q = {atblace P,be Q). # P ={0,2,5},Q =
{1,263, W P+ Q Bt RMANEUE ()
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AR T +a)1—|z)) > OMIREER ( )
A {zl0 <2z <1} B.{zlr<0H z+# —1}
Clz|-1<z<1} D. {zlz <1 Haz# —1}
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A. (a+b)(7+g)>4 B. a® + b3 > 2ab?
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17. (14 %) %1 AABC NEMA =M, WHNZBEMLEKDHN a,b € RY, ILHN S,

KRR C. % =ML EE, KRR Gl SRR f/IME, T B, %
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19. (14 %) Jelluk FAIAGE R BUETE, FAE U5 T 1) 8
E: (a1by + agby)? < (af + a3) (b7 + b3)

WE: & A= \/a? +a3, B=/b}+ b3

a,by+ayby a; by + agby

a?+a2,/b2+b2

_ 1,a%+a3 b3+b3
= 5(2 + “522)
=1

W (ayby + aghy)® < (af + a3) (b3 + b3).
(1) 4 x1,Y1, 7o, yy € RY, B FIRZE 0, UET:
(21 + 29) (1 + ¥2) = (VT1Y1 + V/Tals)?

(2) %“ xl,yl,x27y2,zl,22 € R+’$ﬁ1ﬁj:i7ﬁi£?£ﬁ:%é (1) E‘JL[E?%’ ‘IEH)%:

(21 + 29) (41 +Y2) (21 + 20) = (Y1512 + /Ty 22)?

(B 4 a,b,c € RY, A 4 5 gpe )

p4TE 6N

Ei



T B F

20. (16 ) ATC 2222 4, P AL QPR AL BRI A I, kgL AR ) A
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21. (18 %) CHIRHE f(z) = aa® — iz +c(avc € R),VHE f(1) =0, H f(z) >0fE 2 € R
INREV A

(1) 3K avc BIMH;
(2) # h(z) =222 — bz + 2 — 1, A% f(z) + h(z) < 0;

(3) RBAAETEL m, (R EL g(z) = f(x) — ma TEXE [m,m + 2] LAEH/ME —52 %
FAAE, TR m B 5 ANFAE, TE BB .
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